Q.1

Q2

Q3

a4

Waler application efficiency is highest in

{a} Basinllooding

{b) Sprinklerirmgation

{c} Furowmethod

(ch Dripiigalion

Select the incorrect statement pertaining to the
check-basin method of irigation.

inthe check-basin method of irrigation

"{a} tha ridges inlerfere with the movement of

traclor drawn impléments
{b} considerable fand is wasted by ridges and
lateral channels *

e} the surlace drainage is unhindered and as

such, isexcellent ™ ~

(@} is unsuitable for growing ¢rops which are '
sensitive o wel ol condiiion around thelr -

siem

I the available land is steep innature, the method
ol irrigation used is

" {a) Checkmethod (b} Basinflcoding

{c} Bordermethod {d} Freefloading

The moisture coment of the root soil is mare or
less constant with ime in :

{a) sprinkler frrigation

{b) freeflooding

{c) dripirrigation

(¢} furow melhod

With the increase in supplied irrigation water, the

yield of crops

{a) increases continuously.

(b} decreases continuously.

{c) increasas up to a ceriain limit, and then
becomes constant.

{d} increasss up o a ceridin limil, and then
decreases.
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Which of this (ollowing stalements are correct?

1. Trickfe irrigation is adopted where there is
acute:scarcity of irrigalion waler.

2, Eveporation Iossesj{are eliminated in drip
irfigalion as waler i& provided at rool level.

(a} Onty1 (b Only 2

{c} Bolhtand2  (d) Neither 1nor2

The most ,s@nitable melhod of irrigation for areas
having low rainfall and strong winds is

{a) furrowirdigation

{b) sprinWer imgation.

{o) Gilpirrigation

(d) contour farming

Futrow meihod of Iigation is most suilable for
{3) potale (b} rica

(d) cotton

What is the moisture depih available for
evapolransplration in root zone of 1 mdepth of

_ sil, if dry-weight of soil is 1.6 gmice, field

Q.io

capacity 15:30% dnd permanent willing point is
10%7 i

{a} 450mm {bs) 300 mm

{c} 200mm {«!) 150 mm

Match List-1 with List-ll and select cortect answer
from codos below: gy

Lisi-

Fugrow method

Subsurfaceirrigation

Sprinkler irrigation

Trickleirtigation )

List-ll :

Wide range ol topography can beirrigated
Narrow channels at regular intervals

Flow, direct application lo rool zone
Impervious subsoil at 2-3 m depth

Dow»

A

Q.11

Q.12

Q.13

Codes:
A B C D
fay 1 2 3 4
b) 2 4 1 3
© 2 3 1 4
9 3 2 4 1
Match List- with List-1l and selec correct answer
frorn codes below: ,
lst-l List-1l
A. Furrow method 1. Tomato
B. Checkfiooding 2. Sugarcane
C. Basinflooding 3. Coconut
D. Dripirrigation 4. Paddy
Codes:
"A B €D
@ 1 3 2 4
) 4 2 3 1
cy 2 4 3 1
@ 1 4 3 2
In anirrigation sysiem, ihe land was divided inlo

alarge number of smaller size unit areas, having
lairty level surface, by bunds and cross ridges.
The basins thus crealed were filled with water to
Ihe desired depih and the water was retained
for some time. This method ol irrigation Is known
as

{a) border melhad.

{b) check basin method.

{c) sub-irigation.

{d} comaurirrigation. -

In an irrigation system, vealer vas delivered to
the field in ditches spaced aboul 30 m aparl,
and was allowed (o seep into the ground to
maintain the water table at such a height thal
lhe water is available (o the crops through the
capillary Iringe. This method of irrigation is
called:

{a} lrickle irrigation

() furrowirrigation

{c) border irrigation

{d} sub irrigation

Q.14

Q.15

Q.18

Q.17

In conlour border irrigation method

(a) lhe supply ditch runs along the conlous.

(b) thedrainage channel runs along the contour.

(c) the border suips are on the approximate
contour and have unilorm tongitudinal
gradiant.

(d) he border strips are normal to the contour
and level across (he skrip.

Sprinkler irrigation is an irrigalion methed for

which the iollowing slatements are made :

1. It requires elaborale preparation of land
before irrigation.

2. | leads to excessive irrigation and water
logging.

3. (nitialinvesimenl and power requirement is
high.

4. Strong wind vaiil disrupt irrigation application.

- Of the above statements:

(a) all arecorrect

(b) 1,2and3arecorrect
(c) "3and 4 arecorrect
(d} only 4is correcl

The area of land 10 be irfigated is 1000 méina
soll having infiltralion capacity of 7 em/hr. The
maximum discharge (in m¥s) through supply
ditch so thal runof! losses are prevented is

@ 7x107mds (b) 1.42 x 102 mY¥s

(€} 1.94x10°2m¥s (d) 0.7 x 102 m¥s

Assertion {A): Maximum applicalion rate by

sprinkloes is limited by inliltration capacity of the

soil.

Reascon {R): Application rate greater lhan

infittration capacily will resull in runafl losses.

{a) boih Aand R are true and R is the correct
explanationof A

{0} both AandRare lrue but R is not a correct
cxplanalion of A

{c} Adislrue but Ris false

{d) Ais lalse bul Ris rue
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B.

12

{b) 15.

Evapotranspiration losses are only minimized,
net eliminated in drip irrigation,

(b}

Check llooding is similar 1o ordinary flooding
except thatihe water is conlrolled Ly surrounding
the check area wilh low ang flal levels. Levels
are generally conslrucled along the conlinuous
having vertical interval of about 5 lo 10 cm.
This melhod is suitable lor more permeable
soils as well as lor less permeable soils. The
waler can also be held on Ihe surface for a
longer lime in case of less permeable soils.

(5

Depih otirrigalion water

< il{i'ﬁ (F.C.—OMC)
W

1.
=

-1

= 0.30m =300 mm

% 1(0.20-0.10) 16

(c) :

Favorable condilions lor sprinkler method:

{i) Wheniandlopographis irregular and hence
in\hose surfaces irrigation is unsuitable, so
sprinkler method is adopled.

{ii) When soil is erodible and land gradient is
steeper.

(ili) When water table is high. So lo prevent waler
logging sprinkler melhod is adopled.

(iv) When sail is either excessively permeable
of highly impermeable.

(v) When waler is available wilh difficulty and is
scarce.

in given slatements, statement (1) is ywrong, as

this method does not required preparalion of land

before Imigation,

Statement (2) is also wrang it prevent waler

logging and provide oplimum irrigation,

Only staterment {3) and (4) is correct.

(c) -

A = 1000m?®
{ = 7emhe

-2
O = Axf= 1000%x 7% 10

3600
184 % 102 m¥s

1l



